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Concept Lecture – 3 



𝑨:𝑩 = 𝟒: 𝟓 And 𝑩:𝑪 = 𝟐: 𝟑 Then 𝑨:𝑩: 𝑪 =?
यदि 𝑨:𝑩 = 𝟒: 𝟓और𝑩:𝑪 = 𝟐: 𝟑 तो 𝑨:𝑩: 𝑪 =?
a) 𝟖: 𝟏𝟎: 𝟏𝟓 b) 𝟖: 𝟏𝟓: 𝟏𝟎
c) 𝟏𝟎: 𝟏𝟓: 𝟖 d) 𝟏𝟓: 𝟏𝟎: 𝟖
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𝑨:𝑩 = 𝟐: 𝟑,𝑩: 𝑪 = 𝟓: 𝟗 And 𝑪:𝑫 = 𝟔: 𝟕 then
𝑨:𝑩: 𝑪: 𝑫 =?
यदि 𝑨:𝑩 = 𝟐: 𝟑, 𝑩: 𝑪 = 𝟓: 𝟗 और 𝑪:𝑫 =
𝟔: 𝟕 तो 𝑨:𝑩: 𝑪:𝑫 =?
a) 𝟐𝟎: 𝟑𝟎: 𝟔𝟑: 𝟓𝟒 b) 𝟐𝟎: 𝟓𝟒: 𝟑𝟎: 𝟔𝟑
c) 𝟐𝟎: 𝟑𝟎: 𝟓𝟒: 𝟔𝟑 d) 𝟔𝟑: 𝟓𝟒: 𝟑𝟎: 𝟐𝟎
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If a:b =
𝟐

𝟗
:
𝟏

𝟑
, 𝒃: 𝒄 =

𝟐

𝟕
:
𝟓

𝟏𝟒
, and 𝒅: 𝒄 =

𝟕

𝟏𝟎
:
𝟑

𝟓
then

𝒂: 𝒃: 𝒄: 𝒅 is:

यदि 𝒂: 𝒃 =
𝟐

𝟗
:
𝟏

𝟑
, 𝒃: 𝒄 =

𝟐

𝟕
:
𝟓

𝟏𝟒
,और 𝒅: 𝒄 =

𝟕

𝟏𝟎
:
𝟑

𝟓
तो अनपुात 𝒂: 𝒃: 𝒄: 𝒅 क्या है:
a) 𝟒: 𝟔: 𝟕: 𝟗 b) 𝟏𝟔: 𝟐𝟒: 𝟑𝟎: 𝟑𝟓
c) 𝟖: 𝟏𝟐: 𝟏𝟓: 𝟕 d) 𝟑𝟎: 𝟑𝟓: 𝟐𝟒: 𝟏𝟔
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𝑨:𝑩 = 𝟐: 𝟑,𝑩: 𝑪 = 𝟒: 𝟕 and 𝑪:𝑫 = 𝟑: 𝟓 then find
i) A:C ii) A:D iii) B:D
यदि 𝑨:𝑩 = 𝟐: 𝟑, 𝑩: 𝑪 = 𝟒: 𝟕और 𝑪:𝑫 = 𝟑: 𝟓 तो बताइए 
i) A:C ii) A:D iii) B:D
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If 𝒂 ∶ 𝒃 = 𝟏 ∶ 𝟐, 𝒃 ∶ 𝒄 = 𝟑 ∶ 𝟐, 𝒄 ∶ 𝒅 = 𝟐 ∶ 𝟑,
𝒅 ∶ 𝒆 = 𝟐 ∶ 𝟏 and 𝒆 ∶ 𝒇 = 𝟏 ∶ 𝟑, Find 𝒂 ∶ 𝒇?
अगर 𝒂 ∶ 𝒃 = 𝟏 ∶ 𝟐, 𝒃 ∶ 𝒄 = 𝟑 ∶ 𝟐, 𝒄 ∶ 𝒅 = 𝟐 ∶
𝟑, 𝒅 ∶ 𝒆 = 𝟐 ∶ 𝟏 और 𝒆 ∶ 𝒇 = 𝟏 ∶ 𝟑, 𝒂 ∶ 𝒇 का
पता करे?
a)

𝟑

𝟏𝟔
b)

𝟑

𝟖
c)

𝟔

𝟏𝟔
d)

𝟔

𝟖
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𝑨𝑩𝑪

𝑩𝑪𝑫
=?

𝑨𝑩

𝑪𝑫
=?



𝑨:𝑩 = 𝟑: 𝟒,𝑩: 𝑪 = 𝟐: 𝟕 and 𝑪:𝑫 = 𝟓: 𝟐 then
𝑨𝑩/𝑪𝑫 =?
यदि 𝑨:𝑩 = 𝟑: 𝟒, 𝑩: 𝑪 = 𝟐: 𝟕 and 𝑪:𝑫 =
𝟓: 𝟐 तो 𝑨𝑩/𝑪𝑫 =?
a) 𝟏𝟓/𝟑𝟕 b) 𝟑𝟕/𝟏𝟓
c) 𝟗𝟖/𝟏𝟓 d) 𝟏𝟓/𝟗𝟖
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If 𝒂 ∶ 𝒃 = 𝟐 ∶ 𝟑, 𝒃 ∶ 𝒄 = 𝟑 ∶ 𝟒, 𝒄 ∶ 𝒅 = 𝟐 ∶

𝟏, 𝒅 ∶ 𝒆 = 𝟏 ∶ 𝟑 and 𝒆 ∶ 𝒇 = 𝟑 ∶ 𝟓 find
𝒂𝒃𝒄

𝒅𝒆𝒇
?

अगर 𝒂 ∶ 𝒃 = 𝟐 ∶ 𝟑, 𝒃 ∶ 𝒄 = 𝟑 ∶ 𝟒, 𝒄 ∶ 𝒅 =
𝟐 ∶ 𝟏, 𝒅 ∶ 𝒆 = 𝟏 ∶ 𝟑और 𝒆 ∶ 𝒇 = 𝟑 ∶ 𝟓 है तो
𝒂𝒃𝒄

𝒅𝒆𝒇
पता करो

a)  𝟏 ∶ 𝟓 b) 𝟐 ∶ 𝟓 𝐜) 𝟑 ∶ 𝟓 d) 𝟒 ∶ 𝟓
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The ratio of 𝑨 to B is 𝒙: 𝟖 and the ratio of 𝑩 to

𝑪 is 𝟏𝟐: 𝒛. If the ratio of 𝑨 to 𝑪 is 𝟐: 𝟏, then

what is the ratio of 𝒙: 𝒛?
𝑨 से 𝑩 का अनुपात 𝒙: 𝟖 है और 𝑩 से 𝑪 का अनुपात
𝟏𝟐: 𝒛 है। यदि 𝑨 से 𝑪 का अनुपात 𝟐: 𝟏 है, तो 𝒙: 𝒛 का
क्या है?
a) 𝟐: 𝟑 b) 𝟑: 𝟐 c) 𝟒: 𝟑 d) 𝟑: 𝟒

9
CDS 2010  (II)



In a school, the ratio of boys to girls is
𝟒: 𝟑 and the ratio of girls to teachers is 𝟖: 𝟏.
The ratio of students to teachers is:
एक विद्यालय में, लड़कों और लड़ककयों का
अनपुात 𝟒: 𝟑 है तथा लड़ककयों और शिक्षकों
का अनपुात 𝟖: 𝟏 है। विद्यार्थियों और शिक्षकों
का अनपुात ज्ञात करे:
a) 𝟓𝟔: 𝟑 b) 𝟓𝟓: 𝟏
c) 𝟒𝟗: 𝟑 d) 𝟓𝟔: 𝟏
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Zinc and copper are in the ratio of 𝟓: 𝟑 in
𝟒𝟖𝟎 𝒈𝒎 of an alloy. How much grams of
copper be added to make the ratio to 𝟑: 𝟓?
एक शमश्रधातु में ज िंक और कॉपर का
अनपुात 𝟓: 𝟑 है और शमश्रधातु का ि न
𝟒𝟖𝟎 ग्राम है, तो ककतने ग्राम कॉपर और
शमलाया  ाये की अनपुात 𝟑: 𝟓 हो  ाए?
a) 𝟑𝟔𝟎 b) 𝟑𝟐𝟎 c) 𝟕𝟐𝟎 d) 𝟔𝟔𝟎
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In a mixture of 𝟏𝟐𝟎 liters, the ratio of
milk and water is 𝟐: 𝟏. The amount of
water required to be added to make
the ratio of milk and water is 𝟏: 𝟐, is:
𝟏𝟐𝟎 लीटर के एक शमश्रण में िधू और
पानी का अनपुात 𝟐: 𝟏 है| ककतनी मात्रा
में पानी शमलाने से िधू और पानी का
अनपुात 𝟏: 𝟐 हो  ाएगा?
a) 𝟐𝟎 b) 𝟒𝟎
c) 𝟖𝟎 d) 𝟏𝟐𝟎
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Rizwan has a box in which he kept red and blue

marbles. The red marbles and blue marbles

were in the ratio 𝟓: 𝟒. After he lost 𝟓 red

marbles the ratio became 𝟏𝟎: 𝟗. How many

marbles does he have now?

रर िान के एक बक्से में लाल और नीले कािंच
की गोशलया 𝟓: 𝟒 के अनपुात में है| 𝟓 लाल
गोशलया खो  ाने के बाि अनपुात 𝟏𝟎: 𝟗 हो  ाता
है| उसके पास अब ककतनी गोशलया बची है?
a) 𝟖𝟏 b) 𝟖𝟔 c) 𝟕𝟔 d) 𝟗𝟏
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The ratio of number of ladies to that of gents
at a party was 𝟑: 𝟐. When 𝟐𝟎 more gents
joined the party, the ratio was reversed. The
number of ladies present at the party was
मदहलाओिं और परुुषों का अनपुात 𝟑: 𝟐 है। यदि
𝟐𝟎 और परुुष आ  ाते है तो अनपुात 𝟐: 𝟑 हो
 ाता है। तो मदहलाओिं की सिंख्या ज्ञात करें।
a) 𝟑𝟔 b) 𝟑𝟐 c) 𝟐𝟒 d) 𝟏𝟔
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If
𝒂+𝒃

𝒄
=

𝟐𝟑

𝟏𝟐
and

𝒃+𝒄

𝒂
=

𝟏𝟕

𝟖
then what is the value

of
𝒂+𝒄

𝒃
?

यदि 𝒂+𝒃

𝒄
=

𝟐𝟑

𝟏𝟐
तथा 𝒃+𝒄

𝒂
=

𝟏𝟕

𝟖
है, तो 𝒂+𝒄

𝒃
का मान

क्या है?
a)

𝟗

𝟓
b)

𝟏𝟏𝟔

𝟓𝟗
c)

𝟏𝟎𝟕

𝟔𝟖
d)

𝟏𝟔

𝟏𝟏
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Rupees 𝟏𝟏𝟐𝟓𝟎 are divided among 𝑨,𝑩 and 𝑪
so that 𝑨 may receive one-half as much as 𝑩
and 𝑪 together receive and 𝑩 receives one-
fourth of what 𝑨 and 𝑪 together receive. The
share of 𝑨 is more than that of B by:
𝟏𝟏𝟐𝟓𝟎 रूपए 𝑨,𝑩 और 𝑪 में इस तरह बािंटे
गए है कक 𝑨 का भाग 𝑩 और 𝑪 के कुल भाग
का आधा है और 𝑩 का भाग A और 𝑪 के कुल
भाग का एक-चौथाई है| तो 𝑨 का भाग 𝑩 के
भाग से ककतना ज्यािा है?
a) 𝟐𝟓𝟎𝟎 b) 𝟏𝟓𝟎𝟎 c) 𝟏𝟖𝟎𝟎 d) 𝟔𝟓𝟎
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𝑹𝒔. 𝟕𝟎𝟐𝟎𝟎 is divided among 𝑨,𝑩 and 𝑪 in

such a way that 𝑨 receive
𝟒

𝟓
of the sum of

𝑩+ 𝑪 and 𝑩 receives
𝟐

𝟏𝟏
the sum of

𝑨+ 𝑪 . Find the amount received by 𝑪.

𝟕𝟎𝟐𝟎𝟎 रूपये को 𝑨,𝑩 और 𝑪 के बीच इस
तरह से बािंटा गया है कक 𝑨 को 𝑩+ 𝑪 का 𝟒

𝟓

प्राप्त होता है और 𝑩 को 𝑨 + 𝑪 की 𝟐

𝟏𝟏
राशि

प्राप्त होती है| तो 𝑪 का दहस्सा ककतना होगा?
a) Rs.𝟐𝟖𝟐𝟎𝟎 b) Rs.𝟐𝟗𝟏𝟒𝟎

c) Rs.𝟑𝟐𝟗𝟒𝟎 d) Rs.𝟐𝟓𝟖𝟓𝟎
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A sum is distributed between 𝑨,𝑩 and 𝑪 in the

ratio 𝟗 ∶ 𝟔 ∶ 𝟏𝟏. If 𝑨 gives 𝟓𝟎𝟎 from his share

to 𝑪, the ratio of shares of 𝑨,𝑩 and 𝑪 becomes

𝟒 ∶ 𝟑 ∶ 𝟔. What is the sum of shares of B and C,

in the beginning?

एक धनराशि 𝑨,𝑩 और 𝑪 के बीच 𝟗 ∶ 𝟔 ∶ 𝟏𝟏 के
अनपुात में बािंटी  ाती है| यदि 𝑨अपने दहस्से से
𝟓𝟎𝟎 𝑪 को िे िेता है तो 𝑨,𝑩और 𝑪 के दहस्सों
का अनपुात 𝟒 ∶ 𝟑 ∶ 𝟔 हो  ाता है| B और C के
आरिंशभक दहस्सों का योग क्या है?
a) 𝟕, 𝟖𝟎𝟎 b) 𝟗, 𝟏𝟎𝟎 c) 𝟕, 𝟓𝟎𝟎 d) 𝟖, 𝟓𝟎𝟎
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By mistake, instead of dividing Rs.𝟏𝟏𝟕

among 𝑨,𝑩 and 𝑪 in the ratio
𝟏

𝟐
:
𝟏

𝟑
:
𝟏

𝟒
it

was divided in the ratio 𝟐: 𝟑: 𝟒. Who
gains the most and by how much?

एक 𝟏𝟏𝟕 रूपये के राशि को 𝟏

𝟐
:
𝟏

𝟑
:
𝟏

𝟒
में

विभाज त करने की  गह 𝟐: 𝟑: 𝟒
अनपुात में विभाज त कर दिया। तब
ककसके दहस्से में सबसे ज्यािा राशि
आयी और ककतनी?
a) 𝑨,𝑹𝒔. 𝟐𝟖 b) 𝑩,𝑹𝒔. 𝟑
c) 𝑪, 𝑹𝒔. 𝟐𝟎 d) 𝑪,𝑹𝒔. 𝟐𝟓
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The ratio of the incomes of A and B is 𝟏 ∶ 𝟐
and that of their expenditure is 𝟐 ∶ 𝟑. If
𝟖𝟎% of B’s expenditure is equal to the
income of A, then what is the ratio of the
savings of B to the savings of A?
A और B की आय का अनपुात 𝟏 ∶ 𝟐 और
उनके व्यय का अनपुात 𝟐 ∶ 𝟑 है| यदि B के
व्यय का 𝟖𝟎% A की आय के बराबर है, तो B
और A की बचतों का अनपुात क्या होगा?
a) 𝟐 ∶ 𝟗 b) 𝟗 ∶ 𝟐
c) 𝟕 ∶ 𝟑 d) 𝟑 ∶ 𝟕

SSC MTS, 2 Nov 2021, S2



The income of A is 𝟖𝟎% of B’s income and the
expenditure of A is 𝟔𝟎% of B’s expenditure. If
the income of A is equal to 𝟗𝟎% of B’s
expenditure, then by what percentage are the
savings of A more than B’s savings?
A की आय, B की आय का 𝟖𝟎% है और A का
व्यय, B के व्यय का 𝟔𝟎% है। यदि A की आय, B
के व्यय के 𝟗𝟎% के बराबर है, तो A की बचत, B
की बचत से ककतने प्रततित अर्धक है?
a) 𝟏𝟓𝟎% b) 𝟏𝟒𝟎% c) 𝟏𝟐𝟓% d) 𝟏𝟎𝟎%

SSC CGL T-2 2020
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The ratio of income of 𝑨,𝑩, 𝑪 is 𝟕 ∶ 𝟗 ∶ 𝟏𝟐

and their expenditure ratio is 𝟖: 𝟗: 𝟏𝟓. If the

saving of 𝑨 is 𝟏/𝟒 of its income then what

will be the ratio of savings of 𝑨,𝑩, 𝑪?

𝑨,𝑩, 𝑪 की आय की अनपुात 𝟕 ∶ 𝟗 ∶ 𝟏𝟐 है
और उनका व्यय अनपुात 𝟖: 𝟗: 𝟏𝟓 है यदि 𝑨

की बचत इसकी आय का 𝟏/𝟒 है तो 𝑨,𝑩, 𝑪
की बचत का अनपुात क्या होगा?
a) 𝟓𝟔: 𝟗𝟗: 𝟔𝟗 b) 𝟗𝟗: 𝟓𝟔: 𝟔𝟗

c) 𝟔𝟗: 𝟓𝟔: 𝟗𝟗 d) 𝟗𝟗: 𝟔𝟗: 𝟓𝟔
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The ratio of the incomes of A and B in
2020 was 𝟓 ∶ 𝟒. The ratios of their
individual incomes in 2020 and 2021
were 𝟒 ∶ 𝟓 and 𝟐 ∶ 𝟑, respectively. If
the total income of A and B in 2021
was ₹7,05,600, then what was the
income (in ₹) of B in 2021?
िषि 2020 में, A और B की आय का
अनपुात 𝟓 ∶ 𝟒 था। िषि 2020 और 2021
में, उनकी व्यजक्तगत आय के अनपुात
क्रमिः 𝟒 ∶ 𝟓 और 𝟐 ∶ 𝟑 थे। यदि 2021
में A और B की कुल आय ₹7,05,600
थी, तो 2021 में B की आय (₹ में)
ककतनी थी?
a) 𝟑, 𝟒𝟓, 𝟔𝟎𝟎 b) 𝟐, 𝟕𝟗, 𝟕𝟎𝟎
c) 𝟑, 𝟔𝟎, 𝟎𝟎𝟎 d) 𝟒, 𝟐𝟓, 𝟗𝟎𝟎

SSC CGL T-2 2020
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The ratio of the incomes of A and B in the last
year was 𝟒 ∶ 𝟑. The ratios of their individual
incomes in the last year and the present year
are 𝟑 ∶ 𝟒 and 𝟓 ∶ 𝟔, respectively. If their total
income in the present year is ₹24.12 lakhs, then
the sum of the income (in ₹ lakh) of A in the last
year and that of B in the present year is:
वपछले िषि में A और B की आय का अनपुात 𝟒 ∶
𝟑 था। वपछले िषि और ितिमान िषि में उनकी
व्यजक्तगत आय का अनपुात क्रमिः 𝟑 ∶ 𝟒 और
𝟓 ∶ 𝟔 है। यदि ितिमान िषि में उनकी कुल आय
₹24.12 लाख है, तो वपछले िषि में A की आय
और ितिमान िषि में B की आय (₹ लाख में) का
योग ज्ञात करें|
a) 𝟐𝟏. 𝟐𝟖 b) 𝟐𝟐. 𝟏𝟕 c) 𝟐𝟎. 𝟓𝟐 d) 𝟏𝟎. 𝟗𝟖
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Lest year, the ratio of the incomes of A and B
was 𝟒 ∶ 𝟑. The ratios of their individual incomes
of last year and present year are 𝟑 ∶ 𝟒 and 𝟓 ∶ 𝟔
respectively. If their total income for the
present year is ₹𝟏𝟔. 𝟎𝟖 lakhs, then the income
of A (in ₹ lakhs) for the present year is:
वपछले िषि, A और B की आय का अनपुात 𝟒 ∶
𝟑 था| वपछले िषि और ितिमान िषि के िौरान
उनकी व्यजक्तगत आय के अनपुात क्रमि: 𝟑 ∶ 𝟒
और 𝟓 ∶ 𝟔 है| यदि ितिमान िषि में उनकी कुल
आय ₹𝟏𝟔. 𝟎𝟖 लाख है, तो ितिमान िषि में A की
आय ₹ _______ लाख है|
a) 𝟗. 𝟔 b) 𝟖. 𝟒 c) 𝟕. 𝟐 d) 𝟔. 𝟔
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The ratio of last year income of A B and C is

𝟑 ∶ 𝟒 ∶ 𝟓. While the ratio of their last year

income to current year income is 𝟒 ∶ 𝟓, 𝟐 ∶ 𝟑

and 𝟑 ∶ 𝟒. If their total current year income

is Rs. 𝟗𝟖𝟓𝟎𝟎 then find out the present

income of 𝑩+ 𝑪 .

A B और C की वपछल िषि की आय का
अनपुात 𝟑 ∶ 𝟒 ∶ 𝟓 है  बकक उनकी वपछल िषि
की आय का ितिमान िषि की आय से अनपुात
क्रमि 𝟒 ∶ 𝟓, 𝟐 ∶ 𝟑 और 𝟑 ∶ 𝟒 है| यदि उनकी
ितिमान िषि की कुल आय रु 𝟗𝟖, 𝟓𝟎𝟎 तब
𝑩+ 𝑪 की ितिमान आय ज्ञात करें|

a) Rs.𝟕𝟐, 𝟎𝟎𝟎 b) Rs.𝟕𝟒, 𝟎𝟎𝟎

c) Rs. 𝟕𝟔, 𝟎𝟎𝟎 d) Rs.𝟕𝟖, 𝟎𝟎𝟎
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A sum of ₹46,800 is divided among A, B, C and D in
such a way that the ratio of the combined share of
A and D to the combined share of B and C is 𝟖 ∶ 𝟓.
The ratio of the share of B to that of C is 𝟓 ∶ 𝟒. A
receives ₹18,400. If 𝒙 is the difference between the
shares of A and B and 𝒚 is the difference between
the shares of C and D, then what is the value of
(𝒙 − 𝒚) (𝒊𝒏 ₹) ?
₹46,800 की राशि को A, B, C और D में इस प्रकार
विभाज त ककया  ाता है कक A और D के सिंयकु्त
दहस्से का B और C के सिंयकु्त दहस्से से अनपुात 𝟖 ∶
𝟓 है। B के दहस्से का, C के दहस्से से अनपुात 𝟓 ∶ 𝟒 है।
A को ₹18,400 शमलते हैं। यदि A और B के दहस्सों के
बीच का अिंतर 𝒙 है और C और D के दहस्सों के बीच
का अिंतर 𝒚 है, तो (𝒙 − 𝒚) (में ₹) ककतना है?
a) 6500 b) 6000 c) 5000 d) 7000
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